2 PASN Y2 SN BARHY
M M2 BAHOZMHMHIA HZ2(EH/BAHAAZ)
9: BoZ QHe RE CER-ED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ofl At o %Eﬁ HR=2
HHAN ) 42,439,849 31,777,749 10,662, 100
= 5,811,364
Jl 25,515,755
& 11,112,730
A=2 BAASAHHIA H2(EH/B2HYR) 42,368,649 31,709,549 10,659, 100
= 5,811,364
Jl 25,502,255
o= 11,055,030
BAHo2 elZe = 6,031,321 4,204,746 1,826,575
= 4,474,754
o 1,556,567
BAHEM EE Y =X 21,700 25,702 A4 ,002
201 et 9| 8,000 8,000 0
01 At 2t2l ] 8,000 8,000 0
O2AFY 35 Y WL2WS 8,000
202 o4 H| 13,700 13,702 A2
01 2L I 13,700 13,702 N2
ORAHH A2 =X 13,700
BAHI|& Mool 2y 26,000 26,684 A\ 684
201 LBt Y| 26,000 26,684 A\ 684
01 AP 22| d| 26,000 26,684 A\ 684
OZ2FEEHOYA HL20= 26,000
B0 FA3AL 2L ALY 231,020 45,916 185, 104
201 et | 2,000 4,000 A 2,000
01 At 22l ] 2,000 4,000 A 2,000
OEEZ HZ 2,000
307 2I2t0| & 180,000 0 180,000
05 QIZtR E 2 180,000 0 180,000
OSEHAAVD ME 2% QI+ e 180,000
308 XHXIEH SO0l & 49,020 41,916 7,104
01 AIKISHHEBEMNEXZ 49,020 41,916 7,104
OXNAEAAN =& & DR 49,020
sHE 92 AHA HWEAISE (=21) 5,593,441 3,862,044 1,731,397
=2 4,474,754
== 1,118,687
403 XX S M S K201 A 5,593,441 3,862,044 1,731,397
= 4,474,754
& 1,118,687
01 AXESHH=E2E X 5,593,441 3,862,044 1,731,397
Os0HE 2= AHIA A 5,593,441
= 4,474,754
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el B9z oxZet F (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
| =) 1,118,687
BHig A oAzl 79,200 79,200 0
308 AHAIEHHSOIA 79,200 79,200 0
01 HXNHHNBHEELS 79,200 79,200 0
OR=dE ¥ olAdzatel 79,200
A 28 243 74,160 68,600 5,560
308 XX EHHSOIA 74,160 66,600 7,560
01 HIXNHHBNEES 74,160 66,600 7,560
OHLSA BAXA ANE2Y 74,160
HES LRAE HL==F S S ?st HHU2Y 2 5,800 10,000 4,200
o
201 ¢er24l 5,800 10,000 A 4,200
01 At 2t 2l 5,800 10,000 A 4,200
OSBAWH Y FHRY 4,000
OXNS2do0=HE dHe2ds 29 1,800
Zgd g 2 2e 12,704,298 6,826,103 5,878,195
= 305,150
J| 8,817,170
< 3,581,978
THoll &St ol 2tel 78,400 75,650 2,750
202 04l 8,400 5,650 2,750
01 S LHOIYI 8,400 5,650 2,750
Ogd & ZFY LAY =W 8,400
206 M= Hl 70,000 70,000 0
01 M= 4l 70,000 70,000 0
O gAstE 2 70,000
239 MHoHR2Dl SHAIE XA 43,000 43,000 0
308 XXM SOl A 43,000 43,000 0
01 IXNHHBNEES 43,000 43,000 0
OoZgd 2Dl &M X& 43,000
2etelor =g XE(21) 37,000 37,000 0
= 37,000
308 XX EHH SOl A 37,000 37,000 0
= 37,000
01 AXHHILEES 37,000 37,000 0
o%ectelor &g X& 37,000
= 37,000
st MO & HoHog =& 302,000 302,000 0
307 21201 A 302,000 302,000 0
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2IIHEES A (=21D) 10,370,710 4,363,916 6,006,794
Dl 7,788,288
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J| 6,102
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02 JIEA 2 %= 12,204 12,204 0
OYs XA SSAS 12,204
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O%SZAIZ MRS 910
= 910
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Oz 2898 S A2Xzd NA 3,000
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AR BASXOER SN BAY M

Hu: Mg BAARMUIA HB(22A/22AAZ)

Gl maA2ae AUlA HB (2 &HH)
- _ _ RE]

AT SA B O (3H) - MEAY - BES Ol At 04 %Ei HR=2
307 2Iz2to| & 7,700 7,700 0
04 SIZ2ISHAAIH E & 7,700 7,700 0

ORR4+R0I d2U3 X 7,700
DANSHAXNA(2D) 1,133,400 1,085,819 47,581
J| 944 /500
& 188,900
308 XAHXIGHH SO0l & 1,133,400 1,085,819 47,581
J| 944 /500
& 188,900
01 IXHHIMNEXS 1,133,400 1,085,819 47,581
oHdg= XA 1,097,760
Jl 914,800
= 182,960
OE=2NHEAHSH 6,120
J| 5,100
& 1,020
OFAYE MIo2Hl K& 29,520
J| 24,600
& 4,920
Ol At 29 99,600 123,000 N 23,400
308 MXISHMSOIA 99,600 123,000 A 23,400
01 IXHAHIMNEEXTZ 99,600 123,000 N 23,400
OO0 It=E AR} 29 99,600
A0 AAAHE XK (=21D) 54,043 76,700 N 22,657
J| 54,043
308 XAHXIEHSOIA 54,043 76,700 N22,657
Dl 54,043
01 AIXSHMEMNEX= 54,043 76,700 N22,657
OgR0t A2HX 54,043
J| 54,043
A0 AFE I A2 (21) 535,200 600,000 A 64,800
J| 446,000
& 89,200
308 XHXIEH SO0l & 535,200 600,000 A 64,800
J| 446,000
& 89,200
01 AIKISHHENMNEXZ 535,200 600,000 A 64,800
OLE S HAIO| A ZE AL & B0t 22| 181,200
Jl 151,000
o=t 30,200
O0l=s0t & AEAH0IA0F 2= 336,000
J| 280,000
& 56,000
OQ MO H2AHEAHA 18,000
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AR PAST YR SN BAF Y
M Hdxe BAAZ AHUIA HMs(BA/BAHAAZ)
Helr BaAL el MHIA S (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2

Jl 15,000
< 3,000

KSAAE oty ZAMZAMA 2F(=12) 414,138 421,395 ANT,257
J| 414,138

308 AHXIEHHSOIA 414,138 421,395 ANT,257
J| 414,138

01 HIXNHHNBHELS 414,138 421,395 ANT,257
ORXSALE AL A X 414,138
J| 414,138

2222 (21) 367,990 708,706 A 340,716
J| 311,140
< 56,850

308 XXM SO0 A 367,990 708,706 A 340,716
J| 311,140
< 56,850

01 IXNHHBNEES 367,990 708,706 A 340,716
Oko 9XEH 341,100
J| 284,250
< 56,850
OSYXEE At=2tel 26,890
J| 26,890

oz AX(EL) MAlE XA 33,000 43,000 A 10,000

308 XX EHHSOIA 33,000 43,000 A 10,000

01 HIXNHHNBNEES 33,000 43,000 A 10,000
O2AXEE A= XI& 33,000

2SS HEA LerHLATAL(2D) 264,006 320,256 A 56,250
= 239,460
< 24,546

201 et | 43,090 43,090 0
= 43,090

01 At 22l 43,090 43,090 0
OALYLEHIT Rgetsaz 43,090
= 43,090

308 MtXIEHSOIH 220,916 277,166 A 56,250
= 196,370
< 24,546

01 HXNHHBHEELS 220,916 277,166 A 56,250
OoA= =0 A LA LZ A 220,916
= 196,370
< 24,546

OO RARBME X (2D) 1,040,000 0 1,040,000
2 650,000
< 390,000

403 MHXSHH S0l & 1,040,000 0 1,040,000
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A= 2A=NHE= PN BAFD
M Hdxe BAAZ AHUIA HMs(BA/BAHAAZ)
Ce BaA22e MHA M3 (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
= 650,000
< 390,000
01 AXISHHA=2E = 1,040,000 0 1,040,000
OZIAFMHAFLUZHEH &X 1,040,000
= 650,000
< 390,000
SEHASIMNS(Z1) 8,307,955 8,124,632 183,323
J| 6,853,629
< 1,454,326
201 et 3,000 13,600 A 10,600
J| 1,500
< 1,500
01 At 2teltl 3,000 13,600 210,600
OSEAULSIMNG =& 3,000
J| 1,500
= 1,500
202 O4dl 12,000 16,400 A 4,400
J| 6,000
< 6,000
01 = LH 4 Hi 12,000 16,400 A 4,400
OSEHLSTANY 2 12,000
J| 6,000
= 6,000
307 21201 A 194,000 160,000 34,000
J| 97,000
< 97,000
05 RIZt2IEt = 194,000 160,000 34,000
OSEAHLSIAY XL 29 194,000
J| 97,000
< 97,000
308 X EHSOIA 8,098,955 7,934,632 164,323
J| 6,749,129
< 1,349,826
01 HXNHHNBMNEELS 8,098,955 7,934,632 164,323
OEdA SEALSIMZY X 8,098,955
J| 6,749,129
< 1,349,826
Ch2std 88 AZd8 X2 100,000 100,000 0
307 glz2tol & 100,000 100,000 0
02 It A AHEE 100,000 100,000 0
Ot=ztd 22 ALZd K& 100,000
O ZHAXNA o =3&Z At 52,800 88,000 235,200
308 XtXIEHH SOl A 52,800 88,000 A 35,200
01 AXHHILEES 52,800 88,000 35,200
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AR BASXALR SH BAT MY
HM: =2 BAHOZMHA MZ2(BA/EHYZ)
Gl maA2ae AUlA HB (2 &HH)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
OXO0OIteE 2ol 52,800
2II2ARNANHA(Z1D) 2,252,837 32,550 2,220,287
J| 1,877,364
= 375,473
308 XAHXIGHHMSO0|& 2,252,837 32,550 2,220,287
J| 1,877,364
& 375,473
01 HXHHIMNEXS 2,252,837 32,550 2,220,287
O2HXNETEHE 2 X3 30,870
J| 25,725
o= 5,145
OX LA =AHAMEI A 2,221,967
J| 1,851,639
& 370,328
AP A AH2ALMHAH EE 8,648,927 8,413,803 235,124
= 142,000
J| 5,741,787
= 2,765,140
HAEBAHAY =& 42,642 42,642 0
202 04| 8,850 8,850 0
01 2L HI 8,850 8,850 0
OAIE A HYE e =& 8,850
307 glz2tol & 14,400 14,400 0
02 QI2tAAMAIE E =X 14,400 14,400 0]
OZAMEBAHANLE SAIXN HRMEXN K (ZEHEH) 14,400
308 XAHXIEHSOIA 19,392 19,392 0
01 AIXSHMENMNEX= 19,392 19,392 0
OBAMEBAHALE ESAA HARXHSLRSA 19,392
s FA8HMEH 29 X 36,000 68,000 A 32,000
308 XHXIGH SO0l & 36,000 68,000 A 32,000
01 AIKSHHEMNEX= 36,000 68,000 A 32,000
ONEIAHANAHY L HAMHALSEAIEH X 36,000
KHatol e & MHAE=ES ALY 230,400 108,000 122,400
307 QI2t0| & 54,000 66,000 A 12,000
02 2B MAIE E =X 54,000 66,000 A 12,000
OZA &0 2HE ArH] 54,000
308 XX SHHSOIH 176,400 42,000 134,400
01 AIXSHMEMNEXZ 176,400 42,000 134,400
OXANEMEH 29 K& 95,200
O XA OIS AFHl & Mol X3 81,200
&H X OHENAE o 2] 400,000 400,000 0
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A= BAST LR SN EAR Y
M Hdxe BAAZ AHUIA HMs(BA/BAHAAZ)
SRl AANEE ZE2ACI A =HE fEH)
22N BB S(EN) - HRAY - BYS Ol &+ o4 il 2
308 X EHSOIA 400,000 ,000 0
01 HIXNHHBHNEELES 400,000 ,000 0
OMIINH ¥ 2ASE X 2A=H| 400,000
MOtext 2ts At XT3 33,000 ,000 0
308 XXM SO0l A 33,000 ,000 0
01 IXNHHBNEES 33,000 ,000 0
OMILE Rt 2tS ALY X & 33,000
Sotetd Y o2 (=1) 11,295 ,450 A1,155
J| 11,295
202 oddl 500 ,000 A 500
J| 500
01 = LH o4 1l 500 ,000 A 500
OEld&&ET HE=8d ZAl 500
J| 500
307 glz2tol & 10,795 ,450 A 655
J| 10,795
02 IZHE M AHE L 10,795 ,450 A 655
OEIRELEL HEE28E A 10,795
J| 10,795
ArlEaEs olg2e(=21) 761,000 777,477 N16,477
J| 600,834
< 160, 166
202 oddl 2,000 4,000 A2,000
J| 1,000
< 1,000
01 = LH o4 1l 2,000 4,000 A 2,000
Oszgazea o2y = 2,000
J| 1,000
< 1,000
307 21201 A 98,000 194,000 296,000
J| 49,000
< 49,000
05 BIZERI & 3 98,000 194,000 296,000
odzlgaas L2y NJAE 24 98,000
J| 49,000
< 49,000
308 XXM SO0 A 661,000 574,777 86,223
J| 550,834
< 110,166
01 IXNHHBNEES 661,000 574,777 86,223
ONEY il SE2ElAY 661,000
J| 550,834
< 110,166
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A= BASTNHE= PN BAFD
Hu: Mg BAARMUIA HB(22A/22AAZ)
SRl AANEE ZE2ACI A =HE (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
KA AE Loz AIEAI (=1) 213,000 0 213,000
= 142,000
< 71,000
308 AHAIEHHSOIA 213,000 0 213,000
= 142,000
< 71,000
01 HIXNHHNBHELS 213,000 0 213,000
OXNGAS Xz AEAY 213,000
= 142,000
< 71,000
OlsEAE JABAMY XA (21) 270,000 240,000 30,000
J| 225,000
< 45,000
308 XXM SO A 270,000 240,000 30,000
J| 225,000
< 45,000
01 AXHHILEES 270,000 240,000 30,000
OO0tz - Ead JAUBHAY XL 270,000
J| 225,000
< 45,000
298 FAUHLSHEEH 2L (=2) 768,800 768,800 0
J| 384,400
< 384,400
307 21201 A 768,800 768,800 0
J| 384,400
= 384,400
05 RIZtRIE = 768,800 768,800 0
OZ9d JUBAHUH 294 768,800
J| 384,400
< 384,400
JIZ=8 HUALSAMEH 29 XNA(=1) 1,344,000 1,056,000 288,000
Jl 1,120,000
< 224,000
308 X EHSOIA 1,344,000 1,056,000 288,000
J| 1,120,000
< 224,000
01 HIXNHHBMNEES 1,344,000 1,056,000 288,000
OJI=d FAUALSIHYH 29 1,344,000
J| 1,120,000
< 224,000
RANY L BUASSTAY(2D) 252,000 252,000 0
J| 210,000
< 42,000
308 XXIEHH SOl A 252,000 252,000 0
J| 210,000
< 42,000
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AR PAST LR SH BAT MY
M Hdxe BAAZ AHUIA HMs(BA/BAHAAZ)
SRl MFOIYE ZYdMH Y CERED
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
01 HIXNHHNBHNEES 252,000 252,000 0
OF/AMAHLESIHE 2F K& 252,000
J| 210,000
< 42,000
ss2e SEXNd dH=29 253,890 243,180 10,710
J| 211,575
< 42,315
308 XXIEHH SOl A 253,890 243,180 10,710
J| 211,575
< 42,315
01 AXHHILEES 253,890 243,180 10,710
o=s=sac SEANd dH2Y 253,890
J| 211,575
= 42,315
A EXNBRE FAUHLSE (=) 32,000 0 32,000
J| 32,000
307 21201 A 32,000 0 32,000
J| 32,000
02 IS AHE L 32,000 0 32,000
OXGH A FAALAISHI 32,000
J| 32,000
MAMNY 2 MHBES 23 ALY 148,000 0 148,000
303 L& 32 12,000 0 12,000
01 243 12,000 0 12,000
OXAULAYE = AT Z& 12,000
307 21201 A 36,000 0 36,000
02 IAHFAAHFEX 36,000 0 36,000
OXaNY X HIES Z3AIS 36,000
308 A EHHSOIA 100,000 0 100,000
01 HXNHHNBHELS 100,000 0 100,000
OMIAZE DIBLls SSHAY 100,000
Loxioiael(=21) 439,200 474,000 A 34,800
J| 366,000
< 73,200
308 XX EHSOIA 439,200 474,000 A 34,800
J| 366,000
< 73,200
01 HIXNSHHBNEES 439,200 474,000 A 34,800
oxixig2eld (M S) N 439,200
J| 366,000
< 73,200
FAXMSeY 29 5,760 5,760 0
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M ox
40 5 4

EAEXHE= FNE2AE
A=2 BAYS HHIA HB(EH/B2228)
AT ZE2MA =

R.RN-ZE-E(HH) - HRAY - BES il Hl D = 2t

308 XXM SO0 A 5,760 5,760 0

01 AXNSGHBLAEES 5,760 5,760 0
OXHEEAA 2L AME 5,760

AEI o224 N (=21) 751,012 991,027 A 240,015
| 625,843
< 125,169

308 XXM S0l A 751,012 991,027 AN 240,015
| 625,843
< 125,169

01 IXNSHHBMNEES 751,012 991,027 A 240,015
QeI olzdl XA 751,012
J| 625,843
< 125,169

Mot etk 2tel (=212) 45,897 45,897 0
| 45,897

308 XX EHH SOl A 45,897 45,897 0
| 45,897

01 AXSHBELS 45,897 45,897 0
O MOt &k Xt 2tel 45,897
| 45,897

o FIZAA(2D) 697,801 604,800 93,001
| 581,501
< 116,300

308 XXM SO0 A 697,801 604,800 93,001
J| 581,501
== 116,300

01 AXSGHBLAEES 697,801 604,800 93,001
og ZJ|&&A 697,801
| 581,501
< 116,300

TGt ME LRAAY KB (2D) 160,000 172,000 A 12,000
| 80,000
= 80,000

307 glz2+ol & 160,000 172,000 A 12,000
| 80,000
= 80,000

02 QIZHE A AHE X 160,000 172,000 A 12,000
OXNGHH 222 X 160,000
| 80,000
< 80,000

S|A - HXNLEEEL 2EHI(21) 992,930 1,258,570 A 265,640
J| 827,442
< 165,488

308 XX EHH SOl A 992,930 1,258,570 A 265,640
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ERCEE S I FE SN EAFH
M Hdxe BAAZ AHUIA HMs(BA/BAHAAZ)
SRl AANEE ZE2ACI A =HE (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
Jl 827,442
=) 165,488
01 IXNHHBNEES 992,930 1,258,570 A 265,640
OgF - HXdBE =8 XS 992,930
J| 827,442
< 165,488
XIOH2telAtey XI& 33,600 33,600 0
308 XtXIEHHSOIA 33,600 33,600 0
01 AXHHILEES 33,600 33,600 0
OXloHex 22835 XN& 33,600
ZYXNMAH 2Z(=21) 600,000 600,000 0
J| 420,000
< 180,000
307 gl2tol & 600,000 600,000 0
J| 420,000
< 180,000
05 RIZtRE = 600,000 600,000 0
OZYXMEEH 29 600,000
J| 420,000
= 180,000
XOHEA THE 2 SSAY 105,300 118,800 A 13,500
308 XXM SO0 A 105,300 118,800 A 13,500
01 HIXNHHBNEES 105,300 118,800 A 13,500
oQRXMMEzzOd 29 105,300
FEOR 29 5,000 5,000 0
201 Let24E] 5,000 5,000 0
01 At 2teltl 2,000 2,000 0
OR£%d 22 2,000
02 =224l 3,000 3,000 0
oRz9d %EY 8,000
FIJ15 2453t 16,400 16,400 0
307 glz2+ol & 14,000 14,000 0
02 It M AHEE 14,000 14,000 0
oINS 88 & oF 14,000
308 MtXIEHSOIH 2,400 2,400 0
01 X HHIBLEXS 2,400 2,400 0
OFIIJIZEA 2AZHXA 2,400
HE2AZAH(ZBH D) (JIEH/IIE) 71,200 68,200 3,000
J| 13,500
< 57,700
eI 2l 27,000 24,000 3,000
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